10

11

12

13

14

15

16

17

18

19

20

U4

0 Rx
1 Tx
2 SDA
3 SCL
4 27
5 26
6 25
7 24
GND-a +3.3v-b

BOEN X0
RESNn X1
+3.3v-a GND-b

8 23
9 22
10 21
11 20
12 19
13 18
14 17
15 16

PropDIP
U5

0 RX
1 Tx
2 SDA
3 SCL
4 27
5 26
6 25
7 24
GND-a +3.3v-b

BOEN X0
RESN X1
+3.3v-a GND-b

8 23
9 22
10 21
11 20
12 19
13 18
14 17
15 16

PropDIP

Ul U2

0 RX — DQ1 Vss

1 X - DQ2 DQ4

2 SDA WE/High=READ DQ3

3 SCL — — RAS CAS

4 27 — Addy9 OE-

5 26 -

6 25

7 24 | Addy0 Addys8

GND-a +3.3v-b Addy1l Addy7

BOEN X0 - Addy?2 Addy6

RESN X1 = Addy3 Addy5

+3.3v-a GND-b - —Vcc Addy4

8 23

9 22 Dram

10 21

11 20

12 19

13 18

14 17

15 16

PropDIP
U3
DQ1 Vss —
DQ2 DQ4
WE/High=READ DQ3
— RAS CAS —
Addy9 OE-
AddyO Addy8
Addyl Addy7
Addy2 Addy6
Addy3 Addy5
—Vcc Addy4

Dram

10

11

12

13

14

15

16

17

18

19

20




21

22

21

22




